Subject: allocating memory
Posted by jtmcahill on Thu, 18 Oct 2007 02:10:34 GMT

View Forum Message <> Reply to Message

So, | have this large model file that | need to open. Although itis
650MB | should be able to open it in IDL on my pc computer which has
~4GB of Memory. However, it keeps telling me insufficient memory.
However, if | try to open it in IDL on a linux machine with ~2GB
memory | can open it no problem. Is there a way to make my windows
based pc cooperate and allow me to open this file that should be no
problem to open?

Thanks,
Hawaiianite

Subject: Re: allocating memory
Posted by Foldy Lajos on Sat, 20 Oct 2007 13:58:35 GMT

View Forum Message <> Reply to Message

On Sat, 20 Oct 2007, Andrew Cool wrote:

Hmm, Here's what | get on my 4GB of RAM Quad core system running 64
bit IDL (v6.4) under 64 bit Vista :-

IDL> memtest

current block size = 2146435072
Memory block # 1: 2047 Mb (total: 2047 Mb)
Memory block # 2: 2047 Mb (total: 4094 Mb)
Memory block # 3: 2047 Mb (total: 2045 Mb)
Memory block # 4: 2045 Mb (total: 4090 Mb)
Memory block #5: 2043 Mb (total: 2037 Mb)
Memory block # 6: 2041 Mb (total: 4078 Mb)
Memory block # 7: 1803 Mb (total: 1785 Mb)

Can't say | know how to interpret that at all !!

Andrew C.

VVVVVVVVVVVYVYVYVYVYVYV

The same config with Linux (4G phys + 2G swap):

IDL> memtest

current block size = 2146435072
Memory block # 1: 2047 Mb (total: 2047 Mb)
Memory block # 2: 2047 Mb (total: 4094 Mb)
Memory block # 3: 532 Mb (total: 530 Mb)
Memory block # 4. 63 Mb (total: 593 Mb)
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and after changing ULONG to ULONG64 in memtest :-)

IDL> memtest

current block size = 2146435072
Memory block # 1: 2047 Mb (total: 2047 Mb)
Memory block # 2: 2047 Mb (total: 4094 Mb)
Memory block # 3: 547 Mb (total: 4641 Mb)
Memory block # 4: 63 Mb (total: 4704 Mb)

regards,
lajos

Subject: Re: allocating memory
Posted by R.G.Stockwell on Sat, 20 Oct 2007 21:25:16 GMT

View Forum Message <> Reply to Message

"Andrew Cool" <andrew.cool@dsto.defence.gov.au> wrote in message
news:1192868061.603580.289300@e9g2000prf.googlegroups.com...

> On Oct 19, 12:37 am, "R.G. Stockwell" <noem...@please.com> wrote:
>> <jtmcah...@gmail.com> wrote in message

>>

>> news:1192673434.544923.139390@i389g2000prf.googlegroups.com.. .
>>

>>> So, | have this large model file that | need to open. Although it is

>>> 650MB | should be able to open it in IDL on my pc computer which has
>>> ~4GB of Memory. However, it keeps telling me insufficient memory.
>>> However, if | try to open it in IDL on a linux machine with ~2GB

>>> memory | can open it no problem. Is there a way to make my windows
>>> pased pc cooperate and allow me to open this file that should be no
>>> problem to open?

>>

>>> Thanks,

>>> Hawaiianite

>>

>> ['ve attached a short program memtest.pro below. | grabbed this

>> off the newsgroup.

>>

>> |t shows you the memory sizes you can allocate.

>>

>> The problem may be fragmentation of your ram by the many

>> dlls loaded by windows and other programs. I'd remove everything

>> you can from the startup (and other automatically loading programs)

>> and reboot (remove spyware, antivirus, firewalls, mail programs, but
>> pe careful not to forget to turn them back on). That may help.

>>
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>> pro memtest
>> compile_opt idl2 ; set default integers to 32-bit and enforce [] for
>> indexing

>> MB = long64(2)"20
>> currentBlockSize = MB * 2047 ;2 GB

>>
>> print,'current block size =",currentblocksize
>> maxliterations = 10 ; Max loop iterations

>> memPtrs = ptrarr(maxlterations)
>> memBlockSizes = ulonarr(maxlterations)

>> for i=0, maxlterations-1 do begin
>> : Error handler
>>  catch, err

>>

>> ; Sepcifically designed for "Failure to allocate memory..." error

>>  f (err ne 0) then begin

>> currentBlockSize = currentBlockSize - MB  ; ...try 1 MB smaller

>> allocation
>> if (currentBlockSize It MB) then break ; Give up, if
>> currentBlockSize

>> <1 MB
>> endif
>>

>> ; This 'wait' enables Ctrl-Break to interrupt if necessary (Windows).
>>  wait, 0.0001

>> ; Allocate memory (if possible)

>>  memPtrs[i] = ptr_new(bytarr(currentBlockSize, /nozero), /no_copy)
>>  memBlockSizes[i] = currentBlockSize ; Store the latest successful
>> allocation size

>> ; Print the current allocated block size and the running total, in Mb
>>  print, format="(%"Memory block #%2d: %6d Mb (total: %4d Mb)")', $

>> i + 1, ishft(currentBlockSize, -20),

>> jshft(ulong(total(memBlockSizes)), -20)

>> endfor

>>

>> ptr_free,memPtrs

>> end

>

> Hmm, Here's what | get on my 4GB of RAM Quad core system running 64
> bit IDL (v6.4) under 64 bit Vista :-

>

> |DL> memtest

> current block size = 2146435072

> Memory block # 1: 2047 Mb (total: 2047 Mb)
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Memory block # 2: 2047 Mb (total: 4094 Mb)
Memory block # 3: 2047 Mb (total: 2045 Mb)
Memory block # 4: 2045 Mb (total: 4090 Mb)
Memory block #5: 2043 Mb (total: 2037 Mb)
Memory block # 6: 2041 Mb (total: 4078 Mb)
Memory block # 7: 1803 Mb (total: 1785 Mb)

VVVVYVYVYVYV

Can't say | know how to interpret that at all !!

YOWZA! I'd interpret that as: you have scads of memory available
(yes scads).

and you should be able to allocate 650mb (since you allocate 2gb twice)
very easily.

Is the problem somewhere else? (check the actual size you are trying
to allocate for instance)

The best | can do (on my system) is slightly less than 1gb on a 4gb system,
so | ended up running my image processing on a 64 bit machine
with 16gb of ram.

Cheers,
bob

Subject: Re: allocating memory
Posted by pook41 on Sun, 21 Oct 2007 02:25:06 GMT

View Forum Message <> Reply to Message

On Oct 21, 6:25 am, "R.G. Stockwell" <noem...@please.com> wrote:
> "Andrew Cool" <andrew.c...@dsto.defence.gov.au> wrote in message
>

news:1192868061.603580.289300@e9g2000prf.googlegroups.com...

>
>
>
>

>> On Oct 19, 12:37 am, "R.G. Stockwell" <noem...@please.com> wrote:
>>> <jtmcah...@gmail.com> wrote in message
>

>>> news:1192673434.544923.139390@i389g2000prf.googlegroups.com.. .
>

>>>> S0, | have this large model file that | need to open. Although it is

>>>> 650MB | should be able to open it in IDL on my pc computer which has
>>>> ~4GB of Memory. However, it keeps telling me insufficient memory.
>>>> However, if | try to open it in IDL on a linux machine with ~2GB

>>>> memory | can open it no problem. Is there a way to make my windows
>>>> based pc cooperate and allow me to open this file that should be no

Page 4 of 11 ---- Cenerated from conp. |l ang. i dl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=5969
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=25514&goto=56417#msg_56417
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=56417
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

>>>> problem to open?

>

>>>> Thanks,
>>>> Hawaiianite

>

>>>
>>>
>

>>>
>

>>>
>>>
>>>
>>>
>>>
>

>>>
>>>
>>>
>

>>>
>>>
>

>>>
>>>
>>>
>>>
>

>>>
>>>
>>>
>

>>>
>>>
>>>
>>>
>>>
>>>
>>>
>>>
>

>>>
>>>
>

>>>
>>>
>>>
>>>

I've attached a short program memtest.pro below. | grabbed this
off the newsgroup.

It shows you the memory sizes you can allocate.

The problem may be fragmentation of your ram by the many

dlls loaded by windows and other programs. 1I'd remove everything
you can from the startup (and other automatically loading programs)
and reboot (remove spyware, antivirus, firewalls, mail programs, but
be careful not to forget to turn them back on). That may help.

pro memtest
compile_opt idI2 ; set default integers to 32-bit and enforce [] for
indexing

MB = long64(2)"20
currentBlockSize = MB * 2047 :2 GB

print,'current block size ="',currentblocksize
maxlIterations = 10 ; Max loop iterations
memPtrs = ptrarr(maxliterations)
memBlockSizes = ulonarr(maxlterations)

for i=0, maxlIterations-1 do begin
: Error handler
catch, err

: Sepcifically designed for "Failure to allocate memory..." error
if (err ne 0) then begin
currentBlockSize = currentBlockSize - MB  ; ...try 1 MB smaller
allocation
if (currentBlockSize It MB) then break ; Give up, if
currentBlockSize
<1MB
endif

; This 'wait' enables Ctrl-Break to interrupt if necessary (Windows).
wait, 0.0001

; Allocate memory (if possible)
memPtrs[i] = ptr_new(bytarr(currentBlockSize, /nozero), /no_copy)
memBlockSizes[i] = currentBlockSize ; Store the latest successful
allocation size
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>
>>> ; Print the current allocated block size and the running total, in Mb
>>>  print, format='(%"Memory block #%2d: %6d Mb (total: %4d Mb)")', $
>>> i + 1, ishft(currentBlockSize, -20),

>>> shft(ulong(total(memBlockSizes)), -20)

>>> endfor

>
>>>  ptr_free,memPtrs
>>> end

>

>> Hmm, Here's what | get on my 4GB of RAM Quad core system running 64
>> it IDL (v6.4) under 64 bit Vista :-

>

>> |DL> memtest

>> current block size = 2146435072

>> Memory block # 1. 2047 Mb (total: 2047 Mb)
>> Memory block # 2. 2047 Mb (total: 4094 Mb)
>> Memory block # 3: 2047 Mb (total: 2045 Mb)
>> Memory block # 4. 2045 Mb (total: 4090 Mb)
>> Memory block #5: 2043 Mb (total: 2037 Mb)
>> Memory block # 6: 2041 Mb (total: 4078 Mb)
>> Memory block # 7. 1803 Mb (total: 1785 Mb)
>

>> Can't say | know how to interpret that at all !!

YOWZA! I'd interpret that as: you have scads of memory available
(yes scads).

and you should be able to allocate 650mb (since you allocate 2gb twice)
very easily.

Is the problem somewhere else? (check the actual size you are trying
to allocate for instance)

The best | can do (on my system) is slightly less than 1gb on a 4gb system,
so | ended up running my image processing on a 64 bit machine
with 16gb of ram.

Cheers,
bob

VVVVVVVVYVYVVYVYVYVYV

Hi Bob,
| think you've confused me with the OP, "Hawaiianite".

| just ran memtest out of interest. After a little thought, | may have
the reason why my PC appears to

have scads of memory. Vista has a functionality called ReadyBoost,
whereby you can utilise the memory in a fast USB stick
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as extra RAM (effectively). My PC has 4GB of RAM, and I'm running a
4GB USB stick dedicated to ReadyBoost.

My HDD's seldom need to spin up, and | reckon that memtest is
allocating 2GB on the USB stick, and 2GB in actual RAM.

Maybe Karl Schultz can comment on whether this is indeed the case?

| should test that idea by removing the ReadyBoost USB stick, and
running memtest again!

Cheers,

Andrew

Subject: Re: allocating memory
Posted by Karl Schultz on Mon, 22 Oct 2007 15:58:07 GMT

View Forum Message <> Reply to Message

Andrew_Cool <pook41@gmail.com> wrote:

> On Oct 21, 6:25 am, "R.G. Stockwell" <noem...@please.com> wrote:

>> "Andrew Cool" <andrew.c...@dsto.defence.gov.au> wrote in message

>>

>> news:1192868061.603580.289300@e9g2000prf.googlegroups.com...
>>

>>

>>

>>> On Oct 19, 12:37 am, "R.G. Stockwell" <noem...@please.com> wrote:
>>>> <jtmcah...@gmail.com> wrote in message

>>

>>>> news:1192673434.544923.139390@i38g2000prf.googlegroups.com.. .
>>

>>>> > S0, | have this large model file that | need to open. Although itis
>>>> > 650MB | should be able to open it in IDL on my pc computer which has
>>>> > ~4GB of Memory. However, it keeps telling me insufficient memory.
>>>> > However, if | try to open it in IDL on a linux machine with ~2GB

>>>> > memory | can open it no problem. Is there a way to make my windows
>>>> > pased pc cooperate and allow me to open this file that should be no
>>>> > problem to open?

>>

>>>> > Thanks,

>>>> > Hawaiianite

>>

>>>> ['ve attached a short program memtest.pro below. | grabbed this

>>>> off the newsgroup.

>>

>>>> |t shows you the memory sizes you can allocate.
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>>
>>>>
>>>>

The problem may be fragmentation of your ram by the many
dlls loaded by windows and other programs. I'd remove everything

>>>> you can from the startup (and other automatically loading programs)

>>>>
>>>>
>>

>>>>
>>>>
>>>>
>>

>>>>
>>>>
>>

>>>>
>>>>
>>>>
>>>>
>>

>>>>
>>>>
>>>>
>>

>>>>
>>>>
>>>>
>>>>
>>>>
>>>>
>>>>
>>>>
>>

>>>>
>>>>
>>

>>>>
>>>>
>>>>
>>>>
>>

>>>>
>>>>
>>>>
>>>>
>>>>
>>

>>>>
>>>>

and reboot (remove spyware, antivirus, firewalls, mail programs, but
be careful not to forget to turn them back on). That may help.

pro memtest
compile_opt idI2 ; set default integers to 32-bit and enforce [] for
indexing

MB = long64(2)"20
currentBlockSize = MB * 2047 ;2 GB

print,'current block size =",currentblocksize
maxlterations = 10 ; Max loop iterations
memPtrs = ptrarr(maxlterations)
memBlockSizes = ulonarr(maxlterations)

for i=0, maxlIterations-1 do begin
; Error handler
catch, err

; Sepcifically designed for "Failure to allocate memory..." error
if (err ne 0) then begin
currentBlockSize = currentBlockSize - MB  ; ...try 1 MB smaller
allocation
if (currentBlockSize It MB) then break ; Give up, if
currentBlockSize
<1MB
endif

; This 'wait' enables Ctrl-Break to interrupt if necessary (Windows).
wait, 0.0001

; Allocate memory (if possible)
memPtrs[i] = ptr_new(bytarr(currentBlockSize, /nozero), /no_copy)
memBlockSizes|i] = currentBlockSize ; Store the latest successful
allocation size

; Print the current allocated block size and the running total, in Mb
print, format="(%"Memory block #%2d: %6d Mb (total: %4d Mb)")', $
i + 1, ishft(currentBlockSize, -20),
ishft(ulong(total(memBlockSizes)), -20)
endfor

ptr_free,memPtrs
end
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>>
>>> Hmm, Here's what | get on my 4GB of RAM Quad core system running 64
>>> it IDL (v6.4) under 64 bit Vista :-

>>

>>> |IDL> memtest

>>> current block size = 2146435072

>>> Memory block # 1: 2047 Mb (total: 2047 Mb)

>>> Memory block # 2: 2047 Mb (total: 4094 Mb)

>>> Memory block # 3: 2047 Mb (total: 2045 Mb)

>>> Memory block # 4: 2045 Mb (total: 4090 Mb)

>>> Memory block # 5: 2043 Mb (total: 2037 Mb)

>>> Memory block # 6: 2041 Mb (total: 4078 Mb)

>>> Memory block # 7: 1803 Mb (total: 1785 Mb)

>>

>>> Can't say | know how to interpret that at all !!

>> YOWZA! I'd interpret that as: you have scads of memory available
>> (yes scads).

>> and you should be able to allocate 650mb (since you allocate 2gb twice)
>> very easily.

>> |s the problem somewhere else? (check the actual size you are trying
>> to allocate for instance)

>> The best | can do (on my system) is slightly less than 1gb on a 4gb system,
>> so | ended up running my image processing on a 64 bit machine
>> with 16gb of ram.

>> Cheers,
>> bob

Hi Bob,
| think you've confused me with the OP, "Hawaiianite".

| just ran memtest out of interest. After a little thought, | may have

the reason why my PC appears to

have scads of memory. Vista has a functionality called ReadyBoost,
whereby you can utilise the memory in a fast USB stick

as extra RAM (effectively). My PC has 4GB of RAM, and I'm running a
4GB USB stick dedicated to ReadyBoost.

My HDD's seldom need to spin up, and | reckon that memtest is
allocating 2GB on the USB stick, and 2GB in actual RAM.

Maybe Karl Schultz can comment on whether this is indeed the case?

VVVVVVVVVVVVVYVVYVYVYV

| should test that idea by removing the ReadyBoost USB stick, and
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> running memtest again!
>

> Cheers,

>

> Andrew

>

But you are actually allocating a total of about 14GB, so | would guess that
you have a 16GB paging file allocated. (Someone else on this thread pointed
out that the running total on the right is broken - needs to be 64-bit).

The amount of RAM in the system, "ReadyBoosted" or not, does not determine
the amount you can allocate - the total virtual paging space does.

For example, you could change the paging file size to 32GB or better and
allocate still more blocks, independent of the amount of RAM.

The reason why you do not see much paging activity on the disk is because
the /nozero option is used. IDL is never actually touching the allocated
bytes. Turn off /nozero and this situation will change!

What | would love to see is you modify memtest to allocate bigger blocks,
say 8GB or better, or see the size of the biggest contiguous block you
could allocate on this system. That can give you an idea of what size
problems you could solve if the algorithms required plain array data
structures.

64-bit virtual address spaces are huge, so with a big enough paging file,
there shouldn't be fragmentation issues and the biggest size should
be limited only by the size of the paging file.

The amount of RAM just determines how fast the system can access this
virtual memory. More RAM means that there is a better chance that a

given page is in the fast RAM and does not need to be paged in. If you have
a small amount of RAM, a lot of patience, and no worries about wearing out
a disk, then you can still solve the same problems as a machine with more
RAM.

| think that the "ReadyBoost" feature just moves OS caches from fast RAM

to "medium-fast" USB memory, which is still faster than disk. Many OS's
cache disk reads and so putting a disk cache on the USB sort of makes sense.
You can see this in effect by searching a large folder of files for

a string, and then doing it again. The second time should be much faster.

(I've seen this in emacs, so it may be emacs doing the caching, but you

get the idea)

And moving the caches out to the USB key leaves more RAM for paging reduction.

Karl
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Karl Schultz kws@frii.com
There are 844,739 ways to enjoy a Waffle House hamburger.
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